ERSAROREERT —I X—RIBIST—F 20234848 (N) 1@)1IE2H
ﬁ'ﬁﬁ C2 U3%—fg ‘(fﬁ} £ ‘[%EH?’;F&] - | 5 am B
[xE<] 1 & :1,000,000 . 23 :400,000 . 33&:250,000 4 3&:150,000 9 . 5 & :100,000 /3
SR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
s 1\MASEE -9~ - {ELARIZ (1IE)
1M YTU—FE-W 7 B 525_;; 2-2-2 | 37.8 2 (4_326) e
R:ISAOVS— B:TARE—FR REI77—L
S e,y L&z -1- - LAt (111E)
205| 6| /MAVNT 550 (Sgsif‘) I ! (‘Ef) EEEh
RUZILAVINT ~ B/ RFvET BIUNIOIFIT7—L1
5 = t 4 | BJHER 56.1 10-8-6 [37.7| - 4 482 | EEE (1)
kR 6 W Ja1TU—-J5Th + 56.0 2172 (+4) | REESZE 3
R:F4RIU—bFryh §:I2TU-Ib—LA dll SR
= b 4 | BIRtER 56.2 8-5-4 38.5| — 5 446 | LERGE (1115)
41101177 2IL—=)b £ 54.0 (/2 @) | @ AXET2—TP—h
RiVa—-hnrF—/ B#:I7539—-94UR ARET21—T7—L
<, e = AR -3~ - WiBExE (k)
55| 5| Y RELI—F ¢ i 6 ks (1561./52) 4-3-3 | 38.8 3 21329) §|ﬁ]§§
R:YISEUR B:HIZAVRIL BERI v
N L 6 | BEFE 56.5 2-7-6 | 38.5| — 9 566 | mAE— (IIF)
6 4| FVRITUwY e 56.0 F9%) 1) @) 5—7 - ak—h
RiYIRI4 TSR #:TVI—U =i =
~,3 5 | AHRR 57.0 12-11-12 [38.3| — | 11 | 454 |EHAOR (1)
71719 7=JI2IzT)b " 56.0 (2 1/2) (=5) AHC (¥) 8
R:FAAIU—bFry b B:FITRRIVITIL fissiute]
= HEES -6~ - NEIE— (1E)
8 8 1 E—F—2J5wT 4t 5 20 (?zj{)) 4-6-8 39.0 8 (4+2;1) o &
R:ALYITSYIEIL B:AwYTPNI YL 7— AR TT 7 —
DT =mEEE -10- - TOEEE— (Jlllﬁ)
9 AT P i 6 o 5(71.)2 4-10-10 | 39.0 7 21_922) nEa
RiFVIANZ S B:OAVIISvE— BEERS
on I)\IRERTE, -9 = eRESie (1)
10Ky 3| TL7AU—=XY R v (577512") 7B ° (‘_121) ElE7ER|
R:X40 B:FUEUEY /\/7 —1is
) fo4 | PR 57.4 9-4-5  [39.4| — | 12 | 447 |FPEEBE (&)
1118112 I/ IvD 54.0 ) ) FEREESS &
R:ZZXHT-RY A BR—ILRE—54k 75 RYg
5 | HEEE 57.4 11-11-11 [38.6 | — 10 | 502 |FHE— (IIE)
1217110 BoILHF R s ) O | 27597 - RRIAT @)
R:STU—FA B:YvRISAD BHI7—A
@ 11— —BBIENI
13—7+—
20—7F— 6,(4,8),(2,5,11),3,1,12,7,10,9
30—7— 6,8,5,12,1,11,4,7,3,2,(9,10)
43— — 6,8,5,1,12,(4,7) ,11,3,2,10,9
o ILRE
B B 8 3004 JA R 6-8 260M4 % 5E 5-6 3204 3EE 6-7-8 1,550H
7B B 8 120/ 7-8 4504 B 6-5 610 3EH 8-6-7 7,410
6 130 6-7 4804 F5 E 6-8 5504
7 230M =51 8-6 1,410
ABCDOVTIRHTERERRODDZ, THERAILZETL




